NOV-01-2012 13:13 F.001

WDIV w1V v . - g e e S0 Ay >
d‘lbn 'Reoﬂ'i*u‘wv, (’p HL S?"”M M @
- TY 5
H'( = =v
9 Lt gu':q« Al
E=

o MERF L mullipllady
¢ N oddiHoug

OM-I\\J&, fwm LUJ‘%

M
& MoTR MP&!A %&WL%

Womtkn Coval thentt o

\"ﬂ-l

& Mieny | Mﬁr&c ot w
PMAN  adai o -
v M«xiMﬁ mesto vy (b o o
C“”M\M"’"’ # of
“C%wic 'Q{M



M.SCADG 'FO?-M @_J L ‘ " ‘b'S 6 “ @
e + kA2 + - .
)= & ‘ﬁ‘ H' @) = GXI: l+o.v.;2"+°*m? '
G Cw'*u!' 3;;4\'. ?M
30“\‘4@) 21%4{ fe&e, (‘I‘ONF
| i Hlay PM‘M\QFM o-(qnz-uw{

Asswm'vw\ 'wgewwpﬂ ‘ﬂm Hee quidebic (‘\b{—wg M'uwm_
J&J &/& . ot Jewmivatn ey vy s u-H-»u_ olﬂ

L o ey | e o s .
o, bolocda\ o goi Gt o Tye ek
@ govg ot L | -

GRUgf c]uw o0 HC%) w ok ace
® ﬁ@'@l?{ ,@Ain of e a]w\i‘(}.ﬁm Sub}jﬂ{m& wﬂ-wa J{t;uﬂ I o -U- Qv““

Wv_(v)-\: —G;IWK(\IWI) "OL|LZW\L[M"Z) “}«X P)\

[a( W)
Ve \Ilw
:j l\/,) b\LI V\I;(M'D 4 ‘0\:2 W\le 'L) A Wy (\4)

e —

- it NP e pat eede €0 brnap. . l/t c)\/\ frre
r'ca./lpxm \""‘4_ W\b‘ &4%.1 {lafvl 6! J-(S
\AJ\\QA/\ \MVQ&MJMJM I +L \q‘/,»rlg ? W:& s TR S




NOV-01-2012 13:13 F.003

Problem 4 (12.5 points)

1. Consider the causal linear time invariant discrete time filter with system

function L1
1— 3z
H(z) = 3
(2) (1-3z7'+ 2272 (1 + 1270)

(a) Draw the Direct form II realization.

(b) Draw the Cascade form realization using first- and second-order direct
form IT sections.

(¢) Draw the Parallel form realization using first- and second-order direct
form II sections.

2. The flow graph shown in the figure is noncomputable, i.e., it is not possible
to compute the output using the difference equations represented by the
flowgraph because it contains a closed loop having no delay elements. -

a -1 Figure

(a) Write the difference equations for the system in the figure, and from

them, find the system function H(z) = %{%

(b) From the system function, obtain a flowgraph that is computable.
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